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(1) &h%Eonr
6.5 + 80  (EA+HKR) = 14.5 m
(2) 7AZ7 7V ~OIRE KL
14.5 X 0.13 + 100 = 0.02 i
(3) 7AZ 7 /v ~UIRE K E
0.02 X 1,100 = 20.74 kg
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A= 158 + 4.1 X 91.4 23.5 = 4140 nof
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80.4 X 1.00 = 80.4
RRZK A7
2.0 X 0.55 X 2 = 2.2
LK
[01.500 - [1J0.900 X 2 = 2.9
&t 85.5 i
(3) RpiE
A= 414.0 - 85.5 = 3285 nf
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(4) 7277V FHUEL
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A T T T L S
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=
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g
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100m3% Y
AR Kk FHE Wi fy &
HIE £ H100 100 + 1 %N 101.0
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TR EE (+T1)

+T
PEHIWr X 0.50 nd MR 0.21m
300 700 1000
] S
g 7 18 § i
<t (=}
I
TR -
T T T
100m¥4 Y
2 pskiS FHHER g #x o &
E7=Ll 0.500 X 100 m 50.0
PR L 4+ 0.210 X 100 ot 21.0
ot 29.0

B E R LR 0.29 X 100




RRZKEUTE ¢ 150

BIIER  2.0m

H
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= LB O RIS (30°)
0.550
= L2 190° KA
100f& A4 Y
N psies #HEX wil o &
PEH! 1.200 X 0.550 X 2.0 X 100.0 m 132.0
Y FLREE AR (0.365 X 0.550 - ¢ 150) X 2.0 X 100.0 m 35.8
HEREL (1.200 - 0.390 - 0.365) X 0.550 X 2.0 X 100.0 | md 49.0
BT ¢ 150 =B 100. 0
B AL R 132.0 - 49.0 m 83.1




Akt 600%600%900

ALKt
N=F 600%600%900
4=t 900%900%1050

—HEBRAt=100mm
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ki1l 1.150 X 1.500 X 1.500 X  100.0 ot 258. 8
R RC40-0 [t =100mm  1.000 X 1.000 X  100.0 ot 100.0
1.000 X 1.000 X 0.100 X  100.0 nt 10.0

oK Sk 100. 0
WAL #/E+ (1.050 - 0.390) X  (O1.500-[30.900) X  100.0 nt 95.0

7 AL 258.8 - 95.0 m 163.7




